RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving Gu-Vo District Administration FY'2012 Budget Amendment No. 2 to Carry Over FY'2011 into FY'2012 in the amount of \$104,640.61 and Gu-Vo Community FY'2012 Budget Amendment No. 1 to Carry Over FY'2011 into FY'2012 in the amount of \$75,329.61)

RESOLUTION NO. 12-087

1	WHEREAS,	the Gu-Vo District did bring forth the Gu-Vo District Administration and Gu-Vo
2		Community Budget Amendments for the FY'2012 Budgets in order to conduct business
3		at the Administration and Community level; and
4	WHEREAS,	the following amounts will be Carried over into and be included in the Gu-Vo District
5		FY'2012 Budget;
6		1. Administration Carry Over of FY'2011 in the amount of \$104,640.61, increasing line
7		items; 6000-Salaries \$28,879.25, 6005-Occasional Appointment \$32,000.00, 6200-
8		Fringe Benefit \$12,761.36, 7035 Building Materials \$10,000.00, 7420-
9		Repair/Maintenance \$20,000.00, and 7500-Capital Equipment \$1,000.00.
10		2. Gu-Vo Community Carry Over of FY'2011 in the amount of \$75,329.61, increasing
11		line items; 6005-Occasional Appointment \$35,624.00, 6200-Fringe Benefit
12		\$3,918.64, and adding a "New" line item, 7500-Capital Equipment \$35,786.97.
13	WHEREAS,	a new line item has been included into the Gu-Vo Community's FY'2012 Budget, line
14		$item7500CapitalEquipment, the amountaddedtothisnewlineitemis\$35,\!786.97, to$
15		be utilized by the community to purchase a new flatbed truck; and
16	WHEREAS,	the Gu-Vo District Budget for Fiscal Year 2012 is in the amount of \$2,060,980.87; and
17	WHEREAS,	the Gu-Vo District Administration FY'2012 Budget has been increased by \$104,640.61
18		and Gu-VoCommunityFY'2012Budgethasbeenincreasedby\$75,329.61fromFY'2011
19		CarryOver; thegrandtotalamountforGu-VoDistrictFY'2012Budgetis\$2,240,951.09;
20		and
21	WHEREAS,	the proposed amendments from the Gu-Vo District Administration and Gu-Vo
22		${\bf Community} {\bf has} {\bf gone} {\bf through} {\bf proper} {\bf reviews} {\bf from} {\bf the} {\bf Gu-Vo} {\bf District} {\bf and} {\bf the} {\bf Tohono} {\bf Tohono} {\bf the} {\bf Tohono} {\bf Tohon$
23		O'odham Legislative Budget & Finance Committee; and
24	WHEREAS,	it is the recommendation of the Budget & Finance Committee to approve Budget
25		Amendment No. 2 for the Gu-Vo District Administration's FY'2012 to Carry over
26		$FY'2011\ into\ FY'2012\ and\ Gu-Vo\ Community\ FY'2012\ Budget\ Amendment\ No.\ 1\ to\ Carry$
27		over FY'2011 into FY'2012.
28	NOW, THER	REFORE, BEIT RESOLVED that the TohonoO'odhamLegislativeCouncilhere byapproves
29		the Gu-Vo District Administration FY'2012 Budget Amendment No. 2 to Carry Over
30		FY'2011 into FY'2012 in the amount of \$104,640.61 and Gu-Vo Community FY'2012

RESOLUTION NO. <u>12-087</u> (Approving Gu-Vo District Administration FY'2012 Budget Amendment No. 2 to Carry Over FY'2011 in FY'2012 in the amount of \$104,640.61 and Gu-Vo Community FY'2012 Budget Amendment No. 1 to Carrover FY'2011 into FY'2012 in the amount of \$75,329.61) Page 2 of 3
Budget Amendment No. 1 to Carry Over FY'2011 into FY'2012 in the amount
\$75,329.61 increasing line items;
1. Administration Carry Over of FY'2011 in the amount of \$104,640.61, increasing lin
items; 6000-Salaries \$28,879.25, 6005-Occasional Appointment \$32,000.00, 620
Fringe Benefit \$12,761.36, 7035 Building Materials \$10,000.00, 7420
Repair/Maintenance \$20,000.00, and 7500-Capital Equipment \$1,000.00.
2. Gu-Vo Community Carry Over of FY'2011 in the amount of \$75,329.61, increasing
line items; 6005-Occasional Appointment \$35,624.00, 6200-Fringe Benef
\$3,918.64, and adding a "New" line item, 7500-Capital Equipment \$35,786.97.
BE IT FURTHER RESOLVED that the Gu-Vo District's current budget for FY'2012 is in the amoun
of \$2,060,980.87, increased in the amount of \$179,970.22; the grand total for Gu-V
District Budget for FY'2012 is \$2,240,951.09.
BE IT FINALLY RESOLVED that the Tohono O'odham Legislative Council hereby authorizes th
Chairwoman of the District and any designated official to expend and administer th
budget as attached, provided that any amendment affecting the funds or funding leve
shall be submitted for further prior approval by the Tohono O'odham Legislativ
Council.
The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 14 TH Da of MARCH, 2012 at a meeting at which a quorum was present with a vote of 2,780.60 FOR; -1 AGAINST; -0-NOT VOTING; and [01] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1 (d)(2)&(3) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (4) Stat. 984).
TOHONO O'ODHAM LEGISLATIVE COUNCIL White the council of the counc
Evonne Wilson, Legislative Secretary

	(Approving Gu-Vo District Administr	ration EV'2012 R	ndget Amendment No. 2 to Ca	rry Over EV'2011 int
	FY'2012 in the amount of \$104,640.61	l and Gu-Vo Con	munity FY'2012 Budget Ame	ndment No. 1 to Carr
	Over FY'2011 into FY'2012 in the ame Page 3 of 3	ount of \$75,329.	61)	
1	Said Resolution was submitted for Nation on the day of	approval to the	office of the Chairman of t	he Tohono O'odhan
2				
3	pursuant to the provisions of Secti			
4 5	upon his approval or upon his fa submittal.	anure to eithei	approve or disapprove it	within 48 hours o
6	Submittai.			
7		TAHONO	Q'ODHAM LEGISLATIVE CO	UNCIL
8		/h:	$H \cap A$	
9 10		/INMI	UL XITACLE	
11		Dimothy	Joaquin, Legislative Chairr	nan
12		0	, - · · 9 () - , - · · 3 · · · · · · · ·	
13				
14 15				
16		4 /	Manuel	
17	[√] APPROVED	on the \mathscr{GO}	_ day of	, 2012
18	f 1 DISADDOVED	- a'52	day of Murch	
19 20	[] DISAPPROVED	at	o clock, <u>a</u> .M.	
21		11/200	Whowevo Wie Chairwom)
22		Much	W JOHNENO I VILLE IN OUT WO THAT	
23 24			S, JR., CHAIRMAN ODHAM NATION	
25		TORONOO	ODITANI NATION	
26				
27				
28				
29 30	Returned to the Legislative Secret	2	dayof	
31		ary on the <u>// (</u>	day of	
32	March , 2012, at 1	1):04 o'clock	а. м	
33	, 2022, 40	<u> </u>		
34				
35	Gommellier			
36	Evonne Wilson, Legislative Secreta	ary		
37				
38				
39				
40				
41				
42				
43				
44				
45				
46				
47	1			
48				

ACTION: APPROVING GU-VO DISTRICT ADMINISTRATION FY'2012 BUDGET AMENDMENT NO. 2 TO CARRY OVER

FY'2011 INTO FY'2012 IN THE AMOUNT OF \$104,640.61 AND GU-VO COMMUNITY FY'2012 BUDGET

AMENDMENT NO. 1 TO CARRY OVER FY'2011 INTO FY'2012 IN THE AMOUNT OF \$75,329.61

COUNCILWOMAN OLIVIA VILLEGAS-LISTON MOVED:

SECOND: COUNCILWOMAN GRACE MANUEL

DATE: **MARCH 14, 2012**

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 342.0	1. FRANCES MIGUEL (Roberta Harvey) 2. FRANCES G. ANTONE (Manage Smith) 2. FRANCES G. ANTONE (Manage Smith)	171.0	x x			:
CHUKUT KUK	(Vernon Smith) 1. ETHEL GARCIA	171.0	X		_	
302.2	(Sara Mae Williams) 2. BILLMAN LOPEZ ()	151.10	x			
GU ACHI 244.9	1. TIMOTHY L. JOAQUIN (Rose Johnson Antone)	122.45	Х			
	2. CYNTHIA E. MANUEL (Louis L. Johnson)	122.45	X			
GU VO 226.7	1. GRACE MANUEL (Floyd Flores)	113.35	x			_
220.7	2. PAMELA ANGHILL (Roselda Lewis)	113.35	X			X
HICKIWAN	1. LOUIS R. LOPEZ (Michelle Ortega)	93.15	х			····
186.3	2. SANDRA ORTEGA	93.15	X			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	100.35	X		:	<u> </u>
200.7	2. EDWARD MANUEL (Gerald Fayuant)	100.35	x			
SAN LUCY	1. LORRAINE EILER	102.30	x			
204.6	2. JANA MONTANA (Gloria Ramirez)	102.30	X			
SAN XAVIER	1. HILARION CAMPUS	107.90	х			· • •
215.8	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	107.90	X			
SCHUK TOAK	1. FRANCES B. CONDE (Anthony J. Rios)	84.90	х			
169.8	2. FREDÉRICK JOSE (Phyllis Cachora)	84.90	х			
SELLS	1. ARTHUR WILSON (Kimberly Mull)	237.85	х			. <u></u>
475.7	2. EVELYN B. JUAN MANUEL ()	237.85	X			
SIF OIDAK	1. NICHOLAS JOSE	105.95	х			
211.9	2. MARY LOPEZ ()	105.95	Х			
TOTAL			2,780.60	-0-	-0-	[01]